= O
A & 0l & AF S E M A
COITEE 20 & LB SBBAA ~ BFAYA
SN BAALL
N 5taE 2e
9l 02 5t4 ALY (&
_ _ _ Muo
A -3 -H2A(SH) - HEAMY - BES O AF K Ofl At ot HwsZ
BAALA 21,015,056 2,921,023 18,094,033
= 13,049,000
p 198,000
Al 7,768,056
st el 14,279,000 0 14,279,000
= 10,834,000
Al 3,445,000
Dt 5t S AL 2,816,000 0 2,816,000
= 2,182,000
Al 634,000
OH2 5t E & XA 2,816,000 0 2,816,000
= 2,182,000
Al 634,000
401 Al&HI LSO 2,816,000 0 2,816,000
= 2,182,000
Al 634,000
01 Al 2,805,863 0 2,805,863
OUADISI+E MXIAY
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= 5,558,000
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